Name:
Quiz 6

Three Hermitian operators are defined below in a two dimensional space, and their eigen-
values and eigenvectors are given.
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Initially the system is in the state
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1. A measurement of S; is made What are the possible outcomes and the probabilities
of those outcomes?
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2. Theresult of the S, measurement is —#/2. What is the state of the system immediately
after this measurement?
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3. Assuming the system is in the state of part 2, a S, measurement is made. What are
the possible outcomes and the probabi}ities of those outcomes?
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